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North - South



East - West
Monday Day

Sally Foster & Lesley Johnstone**
Linda Barnett & Sandra Mansell

Night

Wilma Grogan & Alison Lyall

Denise Oppy & Merrilyn Beeny
Tuesday Day

Jude Adams & Jenny Goodey

P Brown-Greaves & Pat Little**

Night

Graham Rutter & Chris Raisin

Darcy Funnell & Phil Cohen
Wednesday

Anne Lyon & John Moran**

Colleen & David Clift

Friday


Barbara Benson & Jill Tremonti
Trish Cox & Marilyn Hunter
Saturday

Elizabeth Neesham & Geraldine Foley
Hand of the week Friday 1st April Board 02 N-S vul Dealer E
Sometimes you have to lie a little
One of the problems with Standard American is making a weakness takeout of 1 NT if you have a club suit.
In the hand-outs for my lessons I recommend bidding 3( with a weak club holding and 8-9 HCP. 3NT otherwise.

So, there should be a way of bidding a weak 3( with less than 8 HCP; and one way is via Stayman. Before using this method discuss it with partner so that there is no misunderstanding eg 1NT 2( 2( 3( normally implies that you have a major (because you used Stayman) and in this case you would normally have shown that you have 4 spades and a 5 card club suit, and are probably interested in Slam; whereas in reality you are just trying to end up in 3(!
If you agree to use this method then your 2( Stayman bid is alertable because because it now has an additional meaning: “You either have at least one 4 card major or you have a weak minor (less than 8HCP) and have a wish to end up in the minor at the three level”.
The next Red Point events will be Tuesday 3rd May at 7.30pm and Saturday 30th April at 1.00 pm. All welcome.
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